DL-P23004-Grey: W1703S00007

PatiO Furnitu re Sets DL-P23004-L.Blue: W1703S00008

DL-P23004-Red: W1703S00009

45 1/4 inch

\ [—= n 1nch

G

2934 inch —l/K
<
29 3/4 inch
[
\ ‘?3\
/\)’

;———13 13 inch—-,
1

Notice:

1. 50% Tighten before fixing all screws, Allen wrench is recommended instead of an electric
drill.

2. Place the item on a flat ground to adjust and make sure it remains stable.

3. Tighten up all screws with tools gradually.

4. If the screws are not aligned with holes during assembly, please loosen all the other
screws to 50% and continue the assembly process.

5. Ifthe item is not stable, please loosen all the screws, adjust it on a flat ground and tighten
up all screws again.

6. Note : If one or some screws are fully tightened during assembly, chances are the others
will not be aligned with holes. In addition, all the holes are designed to be relatively larger to
provide more space for the adjustment of the screws.

1711




x40

\

M6*35mm

M6*90mm

Dx1

4mm

X 8

M6*15mm

x 54

M6mm

2/11







BOX:1/2

Fx2

e

BOX:2/2

Ix1

- el e=

4/11




X 10

5/11




x10 x10
= | ¢ ok
M6 M6x35
x 4 x 4
&’ C)ﬁ
= 1009%, _i_
M6

6/11




X X2 x1
ﬂ
= || Ot
M6 M6x35 4mm
x5
ﬂ
= D+
M6

7/11




T

50%

Ié

X
4mm

X
O 4
M6x35

1

Dx

4mm

=
M6

x2

g | A

M6x 90

8/11




X X2 x1
ﬂ
= || Ot
M6 M6x35 4mm
X X 2 x 1

o

9/11




M6x15

M6

10/11









